
Site:  Year: 14-15

l
= b × 1000 ÷ a

(g/kg)

6.94

18.85

14.18

22.71

18.48

17.00

29.81

13.06

Annual result

12800

1. If solvent borne spot cleaners are used, enter either 10kg if using Perc or 6.5kg if using other solvent, or the total weight of the solvent content used, as advised by your Supplier in the 'Annual Spot Cleaning Factor  

Weight of work required to comply 
with regulations (kg): Complies with Regulations? YES

(kg) (kg) (g/kg)

256.00 8.21

Annual total of solvent 
emitted per kg of work 

processed

m p q
= Total b + m = p × 1000 ÷ n

n = Total b

Annual Spot Cleaning Correction 
Factor (see Note 1): Total annual weight of solvent used

Annual totals 31163 256.00 480.0

Oct 15 2451 32.00 40.0

Sep 15 2436 -32.00 40.0

Aug 15 2147 64.00 40.0

Jul 15 2823 48.00 40.0

Jun 15 2598 48.00 40.0

May 15 2803 -32.00 40.0

Apr 15 3523 80.00 40.0

Mar 15 2417 -32.00 40.0

Feb 15 2257 32.00 40.0

Jan 15 2547 48.00 40.0

Dec 14 2305 16.00 40.0

(litres)

Nov 14 2856 -16.00 40.0

(kg)

Estimated still residue

(Use this to check the total for each 
method of still cleaning against your 

waste collection notes, adjust the final 
months figure as necessary to 

correspond)a b

Huntingdon

Month and Year

Monthly weight of work processed Monthly weight of solvent used Monthly solvent emitted per kg 
of work processed

(kg)


	Annual (Single Machine)

